ISC 2021 analysis of study-solutions
Bron study Nr 3

all correct [wrong |nothing
1.Kgd 49 28 13 8
Rxh6 28 28 0 0
2.d6 28 18 10 0
exd6 18 18 0 0
3.Re8+ 18 18 0 0
K~ 18 17 0 1
4.Kxg5 17 17 0 0
Rh7 17 17 0 0
5.Kg6 17 17 0 0
Rd7 17 17 0 0
6.c6 17 17 0 0
Maksimovskikh, Shlupetsov study Nr 9

all correct [wrong |nothing
1.Rb1 49 35 9 5
Qh7 35 34 1 0
2.d6+ 34 32 2 0
Kxd6 32 32 0 0
3.Rd1+ 32 29 3 0
Ke7 29 29 0 0
4.Rd7+ 29 29 0 0
Kxd7 29 28 1 0
5.f85+ 28 28 0 0
Ke7,Kc8 28 24 4 0
6.5xh7 24 24 0 0
bxc4 24 24 0 0
7.585 24 23 0 1
c3 23 23 0 0
8.5f3 23 23 0 0
c2 23 23 0 0
9.5g1 23 23 0 0
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Vasilchikov Nr 5 (cat-2)

120
all correct [wrong |nothing
1.6 112 76| 13 23 Bf2 8x  others 5x 100 +
a3 76 72 1 3 Bg7 1x 80
2.Be7 72 43| 29 0 Bg3 18x Bf67x  Bf23x g7 1x o B ® nothing
a2 43 42 1 0 Ke6 1x Hwrong
3.Bxd6+ 42 42 0 0 40 +— — — — correct
Bxd6 42 42 0 0 20 1| |
4.g7 42 42 0 0
alQ 42 42 0 0 0 T T T T T T T |
5.88Q 42 42 0 0 1.6 a3 2.Be7 a2 3.Bxd6+  Bxd6 4.g7 alQ 5.g8Q Qa2+ 6.Kd7
Qa2+ 42 41 1 0 Qe5 1x
6.Kd7 41 41 0 0
Klyukin Nr 11 (cat-2
y ( ) 120
all correct [wrong |nothing 100 -
1.Bd7+ 112 29 57 26 Se451x  Bf53x  e62x Sb3?? 1x %0
Bxd7 29 25 2 2 Kc4 2x B nothing
2.5e4 25 25 0 0 60 - W wrong
dis 25 14 9 2 d1Q 9x 0 |
3.5f6 14 13 1 0 e6 1x correct
Sxf6 13 13 0 0 20 +—— i
4.exf6 13 13 0 0 0
Bed Beb 13 13 0 0 1Bd7+  Bxd7 2.5e4 d1s 3.5f6 Sxf6 4exf6  Be8Bes 5.7
5.f7 13 13 0 0




Botev Nr 6 (cat-3)

all correct [wrong |nothing
1.Rh8+ 265 86 73 106 Rh144x Rc48x Rh76x Re4 5x  other 10x
kd7 86 76 0 10 300
2.Re8 76 67 8 1 Rh7 3x Kb7 2x Rh1 2x Rc8 1x
Kxe8 67 64 3 0 Kd6 2x elQ 1x 250 -
3.Kc7 64 63 1 0 Ke8 1x
elQ 63 61 0 2 200 |
4.d7+ 61 61 0 0
Kf8 61 60 0 1 H nothing
5.d8Q+ 60| 60 0 0 150 1 = wrong
Qe8 60 55 0 5 correct
6.Qd6+ 55 53 2 0 Qe8 2x 100 4
kg8 53 51 0 2 - o
7.Qg3+ 51 51 0 0 so——E—A—A—— - e
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1.Rh8+  Kd7 2.Re8  Kxe8 3.Kc7 elQ 4.d7+ Kf8 5.d8Q+ Qe8 6.Qd6+ Kg8 7.Qg3+




